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Note

MANAGEMENT
PAPER-I1

: This paper contaiiis ONE HUNDRED (100) multiple-choice, matching

questions, each question carrying TWO (2) marks. Attempt All the questions.

‘Which of the following statement about employee gﬁevance is not correct ?

- {A)  The employer is noﬁ obliged to allow you to have witnesses at a grievance

_nieeting "

(B) It is illegal to fire an employee for- ﬁiing a grievance

(C) Grievance is not a complaint

D) Employees can ﬁle' grievance when they feel that their contract has been

violated by the employer ._
Sensitivity training is known as ........ccceeeeiune. .
(A) ‘T group training B) Opefative training
(C) Problem solv_ing training D) In basket_lexercise

A-very fapid growth in prices in which money loses its value to the point

~where even barter may be preferable is known as ........ creasererens »

(A) inflation (B hyper-inflation
(C) deflation. (D) - disinﬂation

A i, is'a specialized firm that finances joung, startup companies.

: (A)_ ‘Venture capital firm - (B) ' Finance .cbmpany

(C) Small business ﬁnancé co. (D) Capital creation co.

Management-II_ '8 - - [P.T.0.]



5. Glbbélizatiozi_ is beneficial for firms because :
(A) Tt protects them against foreign éompetition
(_B) " .It; cushioné them from the effects of events '_ip-other counﬁies
(N It opens up new market o.pportunities' |

(D) It increases the risk and unéertainty of operating in a glqbalizing world
economy.

6.  Which one is called Bretton Woods Twin's ?

(A) IBRD and IDA (B) IMF and IFL
(C) IMF and IBRD . (D) IDA and IFL |
7. A _student'produces a correlation of +1.3. This ,ié :
(A) a high positive correlatiop (B) a significant correlation
(C) an impo'ssible. porrelation- (D) only possible if N is larg;a
8.  Which of the following is not a problem associated With p-érformance: |

appraisals ?
(A) Compare error . (B) Stereotyping
.. (C) Attribution error. | (D) Inarticulation

9. Which of the following statistical methods is appropriate to test whether or
not there is sufficient evidence of a difference between the proportions of two

related samples ?

(A) Chi-Square test of independence
* (B) Wilcoxon Rank Sum Test

(C) McNemar Test |

(D) Kruskal-Wallis rank test

Management-IT . 4



10.  Another way to describe a supply chain, where compariies partner with specific

suppliers and distributors. to ensure a smooth functioning of the system, is

to call it @ .ovveeerercrenn. .
(A) teamwork-group ' | (B) horizontal integ_ration
() domestic éower qenter _ i (D) value delivery network
-11. In the pufchési_ng- décision pi'ocess, the ......... ...... vee. Gre ‘those Whé have the

power to prevent sellers or information from reaching members of the buying

center.
) (A) 'approirers;' | ' (B) - buyers
(C) initiators (D) gatekeepers

12.  Which of the following is a challenge in which business marketers differ from

‘the consumer marketers ?
(A) uflderstanding deep _éustoriﬁr needs in new ways
" (B) identifying new opportunities for organic business growth

©) geographically concentrated buyers

m) caIéulatiﬁg better 'mz-xrketing performance and acc‘ountabilityr metrics
13.  The first step in the strategic brand management process.is .................. .

(A) measﬁﬁng _consumer_brand loyalty |

(B) identifying and establishing brand positioning

(C) : planning and implementing brand marketing

D) ﬁeaéuﬁng and ihterpi'eting brand performance
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14.

15.

16.

17.

18.

- Which of the following holds that consumers préfer prodﬁcts that are widely

“available and inexpensive ?

(A) the product concept " (B) the production concept

'(C) the selling concept - _ (D) the pefformalice concept

| “Leadership is the activity of influencing people to strive willingly for group

objectives.”

This statement ié'g’ivén by o

(A) George R. Terry (B) Harris Thomas A.

(C) Davis, Keith (D) .Rensis Likert

The Basket Training Method means :

(A) Development of decisiozi skills (B) Dévelopment of Insfitute
©) D_evelopment-of Resoﬁrces (D) Development of Production— :

Which of these approaches argues that there is no single best way to nianage

behavior ?
(A) Hawthorne studies (B) Scientific Management
(C) Systems approach (D} Contingency approach.

A clear, thoughtful mission statement provides employees with a shared sense

of purpose, direcfion, and ......... R :
(A). profitability ~ (B) target market feasibility
(C) opportunity - D continuous improvement

Maﬁag‘ement-’II 6



19.

20.

21.

22,

23.

A company that seeks to increase its sales and profits through backward,
forward or horizontal integration w1th1n the industry is said to be employmg ,

AN cevreeereeenrirnnns strategy
(A) diversification growth ~ (B) intensive growth
- (©) target growth 13)] integrative. growth

The relatively homogeneous and enduring divisions in a society, which are

hierarchically ordered and whose members share similar values, interests and

- behavior constitute .........ccceenvens .

(A) a culture N (B) a subculture

) a socxal class (D) a family

The first step in the busmess umt strategic-planning process deals vnth which

of the following ?

“w formulate goals (B) define business mission

(C) 1mplehient strategies - (D) - execute programs'
' »

Whlch of the following statements is not correct ?

~(A) Both the IMF & IBRD have headquarters in Washington

(B) ICSID is the constltuent organisation of the World Bank Group |

(© IBRD is known as World Bank also

@D Indlas vote share in the Internatlonal Monetary ‘Fund is 10%

Which of the followmg forms of FDI is a co-operatlve agreement between

firms ?
(A) joint venture (B) strategic alliance
(C) merger : (D) acquisition

| Management-II ) . 7 - . [P.T.0.]



24.

25.

26.

27

28.

(D) emphasize global promotions

Interest payments on loans borrowed abroad are recorded in :

(A) Capltal Account . - (B) Current,Accounts

(C) Errors and Omissioa Section (D) Official Reserve Account
Since o = probability of type I error then 1- g
(A) Probability of not rejecting Hg when Hy is true

(B) Probability of not rejecting H, when H; is true

(C) Probability of rejecting Hy when H, is true

(D)‘ Probablhty of rejecting H,, when H, is true

Total float of an activity is the ........... e

(A)  Maximum available time over activity

(B) The ei;cess of the available time over activity time |

(C) The excess of the minimum avaﬂable time over: activity time

(D) Latest ﬁnish.time of the activity—Earlist start_ time of the activity

What 1s not a mechanism that contributes to the success of micro-credits ?

(A) Collaterals | _ (B) Dynamlc incentives
(C) Peer momtoring (D) Regular repayment schedules
The key to utilizing orgarxizational core competeocies i8 40 vovvreerrnnn, that

make up the essence of the business.

(A) force organizational departments to justii& the budgetary components

(B) vertically integrate and oWn all intermediaries

(C) own and nurture the resources and competencies

Management-II - 8



- 29.

- 30.

31

o accordmg to the axioms of probability ?

3.

33.

Investment in equipments service sector in Micro scale industry should

be : |

(A) Up to 10 Lacs (B) -10 Lacs — 2 Crores .

(C) 2 Crores — 5 Crores M >5 Croree o

The ..oovvveeivcnennne answers why the organisation exists. It identifies the needs

the ﬁrm aspir'es to solve for others. _
(A) VlSlOIl ~(B) Mission .
(C) Strategy ' (D) Tactics

What would be the probablhty of an event ‘@ if H denotes its complement

(&) P@) = VPE) . ® PG =1-PE
© P@) =1+PH) D) P@G) = PH)
| A(@) .......ce.......... is when a company might seek new businesses that have no

relationship to its current technology, products or markets.
(A) concentric strategy (B) conglomerate strategy

(C) horizontal 'strategy : (D) intensive growth strategy

Developmg a new 1dea through inquiry and testmg is called :

(A) Heunstlcs ' B) Forced relatlonshlp

(®) Sclentlﬁc method o (D) Value analysis

According to the govemmg bodies of common laws, the life of trade secret

is : _ _
(A) 12 years - (B) 15 years
(C} 17 years E ' ‘D) 20 years.

Management-II 9 ' [P.T.0.]



35.

B 36.

37.

38.

‘The- Present value of total cash inflows should be compared with Present value

of :
(A) Income : ' (B) Cash Qutflows
(C) Investment ' (D) Cash Inflows

Accounting is also defined as an ‘information system’ because :

(A) The function of accounting is to provide quantitétive information, |

primarily financial in nature, about economic entities

(B) Every system is ‘information system’

(C) Anyone can get required information from accounting

(D) Keeping systematic records

Which of the following statements is correct ?

(A) Capital redemption reserve accou_nf_ cannot be utilised for issuing fully

paid bonus shares

(B) Redemption of preference shares cannot be made out of the fresh .issue

of debentures

(C) An amount equal to redemption of preference shares out of the profits

must be transferred to general reserve

(D) A company can issue irredeemable preference éhaljes

" Income and Expenditure Account is prepared in non-trading concerns in

lieu of :
(A) Manufacturing Account (B) Profit and Loss Account
(C) Trading Account ~ (D) Cash book

Management-I1 - 10



39. Factoring agency is a service provider to a firm that extends the services

of :

(A)
(B)
©)

- D)

Fixation of economic. ordering quantity
Fixation of minimum cash requirement level

Sales ledger administration and credit management ‘

Managing client’s logistic and sales management

40. Degie:e of financial leverage is defined as :

(A)
(B)
(C)

(D)

The percentage change in the earnings before interest and taxes relative

to a given percentage change in sales

The percén't_age change in EPS due to a given percentage change in
EBIT |

The percentage change in 1nterest rate in relatlon to the changes in -

quantum of debt

The percentage sales in relation to percentage .changé in EBIT

41.  The nominal interest rate equals the real interest rate ................. ... the inflation

_ fabe.

(A)

(C)

Times (B) Divided by

Plus = | (D) Minus

42. The labour is ....... Ceveveeresnen factor of production.

(A)

Passive - ® Active

(C) Attractive : (D) | Semi-active

Management-JI S ‘  [PT.0]



43.

44,

47.

‘The pubhc sale of common - stock in‘a sub51d1ary in Whach the parent usually

retams majority control is called :
(A) ‘a pure play (B) a spin-off

(C) a partial sell-off (D) an equity carve-out

Process of tuning a non-revenue generating assets into cash is known as :

(A) Liquidation . (B) Disinvestment

(C) Monetisation - (D) Diversification
Which of the following recognizes risk in capital budgeting analysis by adjusting

'estlmated cash flows and employs risk-free rate to discount the adJusted cash

fows ?
(A) Cash (B) Certainty Equivalent Approach
(C) Pay-back Period D) Tnventory

. Cost of depreciation fund is computed as :

(A) Long—term loan capltal (B) Dividend

(C) Short-term loan cap1tal (D) Profit
The call-option value of a callable bond is likely to be high when :
(A) interest rates are .vblatile

(B) 1nterest rates are low and expected to remain low

~ (O) interest rates are high and expected to remain high

(D) markets are 1nefﬁc1en-t_

ManagementIl 12
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'48.  The expected rate of return on a bond if bought at its current market price

and held to maturity ié_ known ‘as :
(A) yield to maturity | - ® current yield
(C) coupon yield e (]j) ~capital gains yield
49. Price Ratio Method is : |
(A) Earning Yield Metﬁod (B) | Grbwi;h Method
©) Dividend Yicld Method (D) Asset Method
50.  On the basis of the size and composition of external debf, World Bﬁnk hés
classified India as : | o
(A) Heavily indebted country
(B) Moderately indebted 'couhtry
(.C) Less indébted Vcountlrjlr
(D) Severely igdebted country
51. - Das Kapital, published in German language in 1867 was .autliored by :
' (A) Karl Marx __ | (B) John Maynard .
(C) F. Hayek | D) P. Samu’e_léon |

52. A program that asks managers to reconsider how work would be done and
their ofganization structured if they were starting to develop the company

from the beginning is-called :
(A) re-engineering (B) MBO
(C) TQM | (D) Diversity training

‘Managemenit-II ' 13 _ ' [P.T.O.]



'53.  What is artificial intelligence ? .
(A) Putting yéur-intelligence into computer
(B) Programming with yoﬁr own inl;,elligence" ‘
(C) Making a machine intelligent |
(D) Putting more mem()ry into ¢omputer
54. An‘upwai'd sloping demand curv"er is called ................... .
(A) Uniformly.Elastic De_mand Curve
(B) Exceptionél demand curve
(C) ISO-elastic demand curve -
D) IS_O-ineléstic demand curve
'55. An accounting apﬁrdach, in which expected benefits exceed expected cost is _
.classiﬁt.ad. as: |
(A) beneﬁt‘ abproa_ch (B) cost approach |
(C)_- cqét—benéﬁt approach (D) accoﬁnting approla'ch |
56. Dupont system is : | |

(A) A financial planning and control system f'ocusing on effective asset

'manageméht and cost control to generate return on investment
(B) It is a cost control system ‘
(C) It is a dividend pay;out formula

(D) Itranalyses the cost behaviour

Management-II L 14



BT,

- 58.

. b9.

60.

61.

Management-11 : 15 __ | [P.T.0.]

In Vroom’s Expectancy Theory, Valence means :

(A) Strength of an individual's preference for a particular outcome

(B) - Salary

(C) Supervision

(D) Knowledge .of planning

‘ Micro credit or micro finance is a novel approach to bank with the poor.

In this approach bank credit is extended to the poor through which of the

following ?

(A) Self Help Groups. ' " (B) Anganwadees

(C) Co-operative credit éociéties D) ‘Reserve Bank of India

Critical information for top management is provided by ..........ccocouvenee information
sysﬁem. ' ' | |

(A) expert - o | (B) executive

(C) decision | (D) managerial

According to -_Heck_sher and Ohlin basic cause of Intemétio_nal Trade is :
(A) Difference in factor endowments’ -

(B) Difference in markets

(C) Difference in political systems

(D) Difference in ideology -

A process that is repeated, evaluated and refined is called :

(A) Diagnostic (B) Descriptive

(C) Herative (D) Interpretive



62. Inflationary Gap is a Situation characterized by :

~ (A) excess of aggregate demand over aggregate supply at the full employment

lev_*el
(B) gap between galloping inflation and runv-vay inﬂai;ion
(C) .inflation éoupled with recession
(D) inflation that usually prevails in Va déveloping country -

63. Match List-I with List-II and select the correct answer using the codes given
below the lists : ' '

CList I - Lt
(@) World Bank | O 1944
(b) International Financial Corporation (II) 1956
() International Development Agency  (III) 1960
(d) Asian Development Bank V) 1966

@ ® © @

@ ® an @ av
® @ @D av  a
© am ® av» ao
® @ O .  aw

- 64.  Ifthe investmenf in fixed assets or plant and machinery does not exceed one

crore rupees, then that particular firm comes under the category of :
"(A) Tiny industry - (B) Small scale industry
(O) Village industry (D) Cottage industry

Management-II B 16



65.

66.

67.

68,

69.

~ Which of the following does not increase -span of control 7

(A) Trust-others : oy

(B) Self-development
(C) Delegation of authoﬁty |

(D) Formal commumcatmn only

In the equatlon of a straight line, Y = mX +c, if ¢ is equal to zero, then :
(A) .The line of best fit cuts the X axls_ to the left of the Y axis

B) The line of best fit pasges through the ongm

(), Does not cross the X axis

(D) The line of- best fit cuts the X axis to the i'ight of the Y ax‘i:s’

Which of the following is not a controlling technique ?

(A) Management by exception

(B) Management by objectives

() Financial statements

(B) Management information system

_ Estabhshlng and commumcatmg the distinctive beneﬁt(s) of the companys

market offering, for each target segment 1is called

(A) market research. | - (B) market positioning
(C) marketing effectiveness " (D) market segment:ation

Scientific management, administrative management and bureaucratic

management belong to the management viewpoeint known as the : °
(A) classical perspective - (B) behavioural perspective

(C) quantitative perspect:ve (D) systems perspective

| Management-II ‘ 17 ' - [P.T.0.]
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70. A company can learn a great deal by analyzing the degrees of brand onalty.
For example, ......coeevrunnean can show the firm which brands are most competitive

with its own.
(A) hard-core loyalé' - | (B). split. loyala
(C) shifting loyals (D) switchers
71 _David_Ricardo presente.d the theory of international trade called :

(A) Theory of absolute advantage
(B) 'Theory of comparative advantage
(C) Theory of equai advantage

| (D) Theory of total adyantage

. 72. . The following table shows cost per unit of productioﬁ of two countries X and

Y witli_ no transportation cost and free trial.

A (Rs.) B (Rs.)
‘Sugar 350 650 -
Cloth 700 - 800

. Which one of the following will take place_ 9
(A) No trade will take place
| - (B) X will export sugar and import cloth
' ‘(C) X will export. clath and import Wheat
(D) There is ao enough infofmation to comment

Managemént'-II' : ' o 18



73. What is contnbutmg to orgamzatlons takmg a lock at employee groups that

had prev1ously been overlooked ignored or shutout ?
(A) : Current discrimination laws
(B) Government monetary i.ncentives.
(Cl New behavior management theories
D) Economic pressures
4. Which research strategy is deseribed here ?

The researcher is involved in the acts under study; s/he causes changes and

monitors the outcomes.
(A) Cese study o (B) Action research
(C) Survey - o (D) Grounded theory |
75, T—Group training method was developed by.:
(4) Leland P, Bradford and Kenneth
(B) Getterman |
(C) ‘Bradford
D) _Benms | .
76.  Which of the foilowmg 1s not .the function of the World Bank ?
(A) To provide long term loan to the member countries

- (B) To provide loan to prlvate investors belongmg to member countries on

_ 1ts own guarantee
(C) To ensure exchange rate stability

(D) To provide loan mainly for productive activities

Management—ll : 19 _ _ l[P.T.O.]



77.

78.

9.

80.

81.

Internal information for MIS may come from which of the 'following.

depgrtments ?

(A) Cu-stome'rs. care department - (B) HR departmént

(€) Marketing department - (D) Production department |

Which bf the following is.not a Ihajor ‘caﬁse of sickness in small industﬁes ?

(A) an-availébility of credit (B) Financial inclusion

" (C) Erratic power supply AD) Obsolete technology

When a firm looks for new users in groups that might use the product but

do not, the firm is using the .................... strategy.
| - (A) new-market segment (B) market-penetration
(C) geographical-expansion (D) product | development

.................. refers to the products or sets of products with which a brand competes

- and which function as close substitutes.

(A) Consumer profitability analysis (B) Competitive frame of ref'erehce

(C) - Category membership (D) Value membership

-Contiri’gency theory suggests which of the following as a limitation of classicéil

management theory ?

(A) Management approaches need to take into account the informal social

life of workers at work.

(B) | Managéme‘nt approaches need to take into account-complexity and

instability in the environment.
(C) Everything is -odntingent upon the workers in an organization.

D) 'Management practices need to recognize stability in the environment.

* Management-II o 20



82. e refers to a set of dlstmgulshmg human psychologlcal traits that

lead to relatlvely cons1stent and enduring responses to environmental stimuli.
(A) Image (B) Personality
© Psychological transformation (D) Lifestyle

83. Imagine an indifference map diagram with ‘good y’ on the vertical axis and
‘good ¥’ on' the horizontsl. If the producer of ‘good X’ now embar_ks upon a

| successful advertising campaign, then :
(A) the indifference eurves will -become relativ_ely shaliower.
' (B) the slope of the. indifference curves will nof be effected.
(©) the value MRij will increase for any value of X.

D) . the consumer would be willing to sacrifice additional units of ‘good x’

to obtaln ‘good ¥y’

84, e has three characteristics : (1) it is a source of competitive advantage
in.that it makes a significant eoritribution to perceived customer benefits;
(2) it has applications in a wide variety of markets; and (3) it is difficult for |

competitors to imitate.
(A)- Core cofnpetency
.-(B) Mafket seasing process
(C) Corporate soeial responsibility ‘ - S | R
(D) Strategic business' uﬁit |

Management-II - 21 - ~ [PT.O)



85. Ifan iinperféc’tly competitive firm is p;'oducing a level of output where marginal
cost is equal to marginal revenue, marginal revenue is below average _vaﬁable

cost, and lprice is equal to average total cost, then the firm is :
(A) in loﬁg-mn | équilib_rium.

(B) in shortrun equilibrium.

(C) minimizing short-run average total cost. -

(D) breaking even.

86. v allows the -compahy to discover who its target- markets are, how
they behave, and what they need or want. It also enables the company to
respond appropriately, coherently, and quickly to different customer

opportunities.
 (A) Network management
(B) Supplj chain management
| (C) Marketing management
(D) ‘Customer relationship management

87.  Which of the followihg is not one the Linderlyi‘ng prinéiples of the éorporate

governance Combined Code of Practice ? _
" (A) Acceptability | (B) Integrity .
(C) Openness (D) Accountability

- 88. ' In the case of make-to-order items, the ERP systems save time -bjr integrating

with .o, systems
" (A) engineering change control ~ (B) engiheering change order
(C) CAD and CAM (D) CAD
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89. A monopolist preduces 14,000 units of outpuf and charges Rs. 14 ﬁer unit.
Its marginal revenue is Rs. 8, its marginal cost is Rs. 7 and rising, its average
total cost is Rs. 10, and its average variable cost is Rs. 9. The monopolist
should : |

(A) increase output, which will result in an increase in the firm’s positive

economic profit.
(B) increase output, which will reduce the firm’s economic losses.
(C) shut down, which will reduce the firm’s economic losses.

) dec':rease' output, which will result in an increase in the firm’s positivé

economic profit.

90. Investmeht in equipments service sector in Medium scale industry should

DE wovvvrreeeeerene +
(A) Upto10Lacs =~ (B) 10 Lacs — 2 Crores
B (C) 2 Crores — 5 Crores (D) > 5 Crores |

91. - Match the following approaches with the relevant corﬁponents :

| 1 Classiéal approach - . (a) Operations management
.2. Beha\(_iourai approach (b) Hawthorne studies

3 3. Qﬁanﬁtativé approach (¢) Administrative ma'.nag_ement.
4. Modgrn approach (d) - Qualify managemen_t

(A 140), 24d), 3-b), 4(a)
B) 1), 2-(a), 3:(b), 4@
(©) 140, 2-(b), 3a), 44d)
D) 1), 2@, 3-(a), 4-(B)
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92,

93.

94.

95.

96.

Normal distribution is also claésiﬁed as :
(A) Gaussian distributidn - (B) Poisson distribution .
(C) Bernoulli's distribution (D) Weighted average distribution

According to the concept of moral intensity, a worker is most likeljfo behave
ethically and legally when : '

.‘(A) a manéger observes his or her behavior closely

(B) the worker has intense morals
(C) the conséquences of the act are minor
(D) the éon'sequences of the act are substantial

Small scale industries (SSIs) also khqwn as MSMEs are defined and categorizéd
by the Micro, Small & Medium Enterpz_'iSes Development Act :

(A 2006 o ~ (B) 2007

(C) 2008 o (D) 2009

The market demand curve for a perfectly competitive industry is QD = 12
— 2P. The market supply curve is QS = 3 + P. The market will be in equilibrium
if : ' ' '

(A P=6andQ=9

B) P=5andQ=2

((.})‘- P=4and Q =4

M P=3andQ=6

The Balance of Payments equals :

(A) 'The difference between household spending and income
(B) The difference between government spending and income

(C) A measure of the value of economic transactions between residents of |
~ a country and the rest of the world

(D) The difference between inflation and' unemployment
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When a firm aims to underprice competitors and win market share, it is using
Strategy that requires relatively less marketing skills as

compared to other strategies.

(A) product differentiation

(B) overall cost leadership

(C) focus

D) domestic customer relationship

What is the area under a conditional Cumulative density function ?

A 0 | (B) Infinity
< 1 ' (D) Changes with CDF
Which of the following is not true about factoring ? |

(A) It is a financial transaction

(B) Account receivables are sold

(C) It helps in meeting present and future cash needs

(D) Accounts payable are sold

Which of the following is an example of growth by diversification ?
(A) a company introducing its existing products in a new market
(B) a éompany introducing new product category in a new market
(C) a company increases its product line in an existing market

(D) a company introducing a new product category in an existing market
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